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101|R#A7 L 642 263 379| Kg |EE 1,404 56| & 2,700 648
102|357 L 1,198 1,198 Kg BIE 1,566 555
111|&EEF £ 192 192| Kg BRE 1,782 648
113|RAV S 5 5 Kg EH 2,160
114|B5EFE 87 87| Kg BRE - &E 2,970 1,620
15[ 1= 1 Kg |EfE 1,080 325
117[1E 27 4 23| Kg |@EB 432 =35 3,780 648
121|rblE &€ 55 50 5| Ke |@E& 2,160 107|£fE 1,728
134[#= = 143 100 43| Keg |=# 2,600 1,800| & 5,184 1,620
137|&5ES. < 209 190 19| Keg [Bex 3,780 2,160| &% 3,888 3,240
138|Hm % 2 21 21| Kg FE 918 864
140(5 I 11 11| Kg imE 66,096 31,500
147|EZ O 96 96| Kg BIRE - B | 10,260 4,000
168|BIEM AL H 417 278 139| Kg |ERS 1,836 324| &40 3,208 1,998
201|{Lb L 793 793|  Kg =3B - =) 540 126
203|/Né L 67 67| Kg FfE 432 216
205|5u8 L 1,850 1,850| Kg I 648 389
206| 1 434 14 420 Keg |EE 1,080 864|Fi% 1,037 216
207| = AE 32 32| Kg sl 716
208|m>% 134 134 Kg L 2,376 864
210|1F ALy 16 16| Kg KI5 4,320 2,430
212|&5E.3Y 858 858| Kg FiE 2,430 1,350
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251K A FELCH 345 345 Kg |F% 4,536 4,320

254|EDT2ELCAH 549 549 Kg FER 2,268 1,166
303[A 27z 36 36 Kg R 945 810
305|xAah>0b 21 21 Kg BJE 3,780 1,404
306|Le &Y 30 30 Kg ik 1,512 1,080
315|7: b5 6 15 151 Kg =y 3,024 2,808
3191 h o 489 36 4531 Kg |RI& 1,612 & ] 2,268 727
332|115 WA EF 159 159 Kg JbF 3,024 2,052
3BlHHY 25 5 20| Kg [%E 3,564 FEE 4,104 3,078
3541 <Y 155 90 65| Kg |TE 1,620 1,296|Z %0 3,564 1,134
3/5|HEY 116 116 Kg A - PE 2,160 600
356|L L& 48 10 38| Kg [EA 324 SHY 1,512 864
3577/~ E 36 36 Kg FEE 2,160 945
362|Hh & 442 4421  Kg BJE 3,420 612
4025 E 5 5| Kg FAN 5,616
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) TNy g 240 2401 Kg F 1,400 980
mEBAAT 114 114] Kg 2yl 3,942 1,083
BRCEZV 39 39| Kg 2P 1,620 1,350
TRE 20 201 Kg JbiF 1,296 972
AT Z 93 93| Kg BE - EA 2,300 600
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70110 BA 2,389 2,389 Kg B 4,320 86
709|Lb LALF 45 451 Kg A 684
710(2 2 AT 6 6 Kg Ko 810
54T AE 2 2| Kg bloi ] 1,872
755|FH&» C 184 1841 Kg RIG 1,058 864
56| £ T 13 13 Kg RIF 1,588 1,188
76l|b Y AEE 6 6 Kg FO&rL 2,620
76713725 WD 106 106| Kg EE 2,160 1,440
801|BHL =T 146 1461 Kg ¥ - A 1,728 1,188
802|111 1,238 1,238] Kg blo ] 756 432
805 = 1E 621 621 Kg bF 1,145 745
80718 H D F 6 6 Kg blo el 5,076
810|FAKF 234 2341 Kg bF 3,009 1,350
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